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O&dA4E IMLRF 36,000
ANEEAEHEWRARAE 29 10,000 10,000 0
| 5,000
= 5,000
307 21201 A 10,000 10,000 0
| 5,000
< 5,000
11T AISI S XA E X 10,000 10,000 0
ONEZAEEHEAWRAREE 29 10,000
| 5,000
< 5,000
NAZAEEWRARAS 2 5,600 5,600 0
J| 5,600
308 X XIEHHSOIA 5,600 5,600 0
| 5,600
01 HXNHHBHELS 5,600 5,600 0
OXNGHAHENWASG 29 5,600
| 5,600
dA4E & stotE EAH 9,000 9,000 0
307 glz2tol & 9,000 9,000 0
11 ASI S XA E = 9,000 9,000 0
OF3a4d 5 st0tE sH 9,000
SHOtEUa HAaE FOt 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
11 ALSISRASE 15,000 15,000 0




LR Lk

M BAEAB Y
e FAHAESY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O=HMorgz Had ot 15,000
FAUEN &8s Z20Y 2H 36,000 40,000 A 4,000
307 glz2+ol & 36,000 40,000 24,000
11T MISRASER 36,000 40,000 A 4,000
OFAUHN =g8s T2 29H 36,000
NS MAEZ= T2 X2 46,000 50,000 24,000
= 23,000
< 23,000
307 21201 A 46,000 50,000 A 4,000
= 23,000
< 23,000
11T M3 SXAISEEX 46,000 50,000 A 4,000
Ol MAEZ= nEEZ2]H XA 46,000
= 23,000
< 23,000
HAUSHIEY 2E XD 618,500 612,000 6,500
2 185,550
S 432,950
307 gl2tol & 618,500 612,000 6,500
= 185,550
< 432,950
10 AL SXAIEEE 2 H EX 461,100 0 461,100
OgsdsdH 2L (1HL) 461,100
= 138,330
= 322,770
11T MISXAISEEX 157,400 612,000 A 454,600
O2STEHH XN AY 157,400
= 47,220
< 110,180
4@ =S8 lte 2T 72,790 0 72,790
= 50,200
< 22,590
308 A EHHSOIA 72,790 0 72,790
= 50,200
< 22,590
01 HXNHHNBHELS 72,790 0 72,790
O&AE H=30tY 2ZXE 72,790
= 50,200
< 22,590
Fa4 sotel 2sX& 55,100 0 55,100
= 38,000
< 17,100
308 XXM SO0l A 55,100 0 55,100
= 38,000
< 17,100




2N

M BAEAB Y
Ool: HAHARSAH (SHol: @)
SA - BB B () - MM - BES Ol &t o San HmEET

01 HIXNHHNBHNEES 55,100 0 55,100
Oo&dA4d Iotel sX& 55,100
= 38,000
< 17,100

HAGASEAE NS A NA(X) 202,080 185,520 16,560
J| 202,080

308 XXM SOIA 202,080 185,520 16,560
J| 202,080

01 AXHHILEES 202,080 185,520 16,560
OFaxd+dAE XN A XIE 202,080
J| 202,080

Fad Dz 0Yy 29 2 2435 XA 6,500 4,000 2,500
J| 6,500

308 XX EHHSOIA 6,500 4,000 2,500
J| 6,500

01 HXNHHBHEELS 6,500 4,000 2,500
O&FAHE xddZ20Y 29 & #4435 X 6,500
J| 6,500

FAaEEHAE 2238 29 15,000 15,000 0
J| 15,000

308 AXIEH SOl A 15,000 15,000 0
J| 15,000

01 HIXNHHNBMNEES 15,000 15,000 0
OBAULBANL 2YARAE 29 15,000
J| 15,000

AU Fdus T2 314,286 285,714 28,572
= 220,000
< 94,286

307 21201 A 314,286 285,714 28,572
= 220,000
< 94,286

11T MISAASER 314,286 0 314,286
O&FAY gFusE 22 314,286
= 220,000
< 94,286

S3ELEHANE JIsEH 3,242,000 4,838,000 A 1,596,000
Xl 3,242,000

403 A X EHHSH20IA 3,242,000 4,838,000 A 1,596,000
Xl 3,242,000

01 X EHHMA=ZLE L 3,242,000 4,838,000 A 1,596,000
OSSE2HSHANE JIs2Z 3,242,000
Xl 3,242,000

Otsd3AEZd XA 10,000 10,000 0




2N

M BAEAB Y
SC I PEEIFE W (SHol: @)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 10,000 10,000 0
11T AISIEXAIEEX 10,000 10,000 0
OotssaAdxLd X 10,000
ANHAsSSESd IR 200,000 0 200,000
307 2izto| A 100,000 0 100,000
05 QIZ2tR E S 100,000 0 100,000
OXNH&ES 2N 100,000
402 812t XHE0| ™ 100,000 0 100,000
01 SN2 A EXR (M) 100,000 0 100,000
OXstEd JsE2AAY 100,000
HAEXNEA HLIHA&H K& 121,200 0 121,200
307 2Iz2t0| & 28,800 0 28,800
11T A EXAIEE X 28,800 0 28,800
OFAEXNEX MRIMAH KN (2H) 28,800
308 NXISHHSOIA 92,400 0 92,400
01 AIKSHHENEXZ 92,400 0 92,400
OFAMEAXNEA MRRMEH XS (XH) 92,400
HAEESAHE 5,470,027 5,257,712 212,315
= 19,000
J| 3,861,544
= 1,589,483
HN2SHEH X (2E) 285,080 454 964 A 169,884
J| 142,540
= 142,540
307 QI2t0| & 285,080 274,964 10,116
J| 142,540
& 142,540
11T A EXAIEEX 285,080 137,482 147,598
OXR3HE 29X (DEYH) 142,540
J| 71,270
& 71,270
OdS3HH 29X (01s¥) 142,540
J| 71,270
= 71,270
HE2SHEH REsSE 1Y 8,625 0 8,625
402 12t X0l & 8,625 0 8,625
01 QIS AL EXR (M) 8,625 0 8,625
OLdEsdH nEeses ¢ 8,625
HNE2SHEYH 2L X (XH) 71,270 68,742 2,528
J| 71,270
308 MXISHMSOIA 71,270 68,742 2,528




SN HEHB
Bu: gadodyYs
e HAEBSAHE (e H)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 71,270
01 XHXI J3a8x=2 71,270 68,742 2,528
OMESHEH 29X 71,270
Jl 71,270
A= ANFESIH 44 15,000 15,000 0
307 QI2t0| ™ 15,000 15,000 0
1 A3 2 X AHS 15,000 15,000 0
Odun=E NS 24 15,000
HAEFHSEZAISY NS 24 8,000 8,000 0
= 4,000
= 4,000
307 212t0| & 8,000 8,000 0
= 4,000
o= 4,000
11 A EXAIEEX 8,000 8,000 0
OFAEURMNEHLAS NEEs XN 8,000
= 4,000
= 4,000
HAUQWHSIZAY 2H 22,500 22,500 0
= 15,000
& 7,500
308 XHXIGHH SO0l & 22,500 22,500 0
= 15,000
& 7,500
01 AIKISHENEXZ 22,500 22,500 0
OFAERMHSI LA 22H 22,500
= 15,000
= 7,500
HAUE &y X2 (2E) 149,260 145,972 3,288
J| 74,630
=} 74,630
307 QI2t0| & 149,260 145,972 3,288
J| 74,630
& 74,630
11 A EXAIEEX 149,260 145,972 3,288
OFALAHEH 29X (EY) 149,260
J| 74,630
& 74,630
HAd & 2 X (XNH) 571,121 557,767 13,354
J| 439,324
== 131,797
308 AXIEHSOIA 571,121 557,767 13,354
Dl 439,324
= 131,797




LR Lk
X ZEH: ™A
L= B

HAE A
e dAUBSAE (2 &HH)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 XHNBMNEXTZ 571,121 557,767 13,354
OFadal 29X (XY) 571,121
J| 439,324
o= 131,797
HAE SSXNHARES(RE) 378,200 373,900 4,300
Dl 189, 100
& 189, 100
307 212t0| & 378,200 373,900 4,300
Jl 189, 100
& 189, 100
11 A SXNAEE X 378,200 373,900 4,300
OFAESEXNIMA 75 378,200
Dl 189,100
= 189,100
HAE SSXFMART=E(NLY) 540,600 526,020 14,580
J| 540,600
308 XX S M SO0l & 540,600 526,020 14,580
J| 540,600
01 AXHNBMNEXTZ 540,600 526,020 14,580
OFAUESESXNAMAH 2= 540,600
Jl 540,600
HAEMS X JAAS 491,100 435,000 56,100
307 QI2t0| ™ 466,100 435,000 31,100
10 Al SXAIEEE2IHIEX 416,100 0 416,100
OFAMEMNEENHH 29 416,100
11 A EXNAEE X 50,000 435,000 385,000
OFAAAMGXIAAS 50,000
402 QI2F X2 0| & 25,000 0 25,000
01 BIZEXIE2 ALY E X (KM TH) 25,000 0 25,000
OFAMEMNEGSINHEH ANdI)IsE22 12,000
OFAEAAMGSIHH RIIMEXE IFSFAY 13,000
HAHE 2yl oHHMEH 29 13,000 0 13,000
307 212t0| & 13,000 0 13,000
11T A SXAIE E X 13,000 0 13,000
OFAE LHICIALMAEH &9 13,000
ST OHLSAIHA(ZH) 252,346 252,340 6
Dl 126,173
= 126,173
307 QI2t0| ™ 252,346 252,340 6
Jl 126,173
= 126,173
11 AMISAAEE X 252,346 252,340 6
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2N

M BAEAB Y
Chel: EAEBsSHEE (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

OSetA =28 2913 252,346
| 126,173
< 126,173

SHNZ2IHSSXE (X&) 116,644 116,640 4
| 116,644

308 XXIEtH S0l A 116,644 116,640 4
| 116,644

01 IXNHHBANEES 116,644 116,640 4
Ostth =2 29X A 116,644
| 116,644

stw & HAid X2 (HE) 348,500 245,940 102,560
J| 243,950
< 104,550

307 21201 A 348,500 245,940 102,560
| 243,950
< 104,550

11 AMSSIAIEE S 348,500 245,940 102,560
Ostn % H2E X2 348,500
| 243,950
< 104,550

st gt HAE X2 (XKA) 819,000 676,200 142,800
| 819,000

308 XIS SO0 A 819,000 676,200 142,800
| 819,000

01 AXNSGHBLEES 819,000 676,200 142,800
Ostw & A4 X 819,000
| 819,000

17t Z2SAADHAEH 29 (HY) 53,704 51,800 1,904
| 53,704

307 2I2t0l A 53,704 51,800 1,904
| 53,704

11T AISI S XA E X 53,704 51,800 1,904
ONM78NESEANMEH 22 (M) 53,704
| 53,704

FLESENA A (XEH) 55,000 60,000 25,000
J| 55,000

308 XX EHHSOIA 55,000 60,000 25,000
| 55,000

01 AXSHBELS 55,000 60,000 25,000
OFAUEEIE AtY 55,000
| 55,000

dadE gus 23 1,219,693 1,220,927 A 1,234
| 938,225
< 281,468




SN LM
M HAEASLG
& FAHESHE CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 1,219,693 1,220,927 AN 1,234
J| 938,225
< 281,468
01 HIXNHHBHNEELES 1,219,693 1,220,927 N1,234
O&FaY s 3X& 1,219,693
J| 938,225
< 281,468
stnEy AAE XNJHEH(XR) 51,384 0 51,384
J| 51,384
308 XXM SOIA 51,384 0 51,384
J| 51,384
01 IXNHHBANEES 51,384 0 51,384
Otn=d FAE XHEH(XH) 51,384
J| 51,384
HE2IAIH (L Z ) 69,117 74,671 A5,554
Jl23dl 69,117 74,671 A5,554
JlE2&l 69,117 74,671 A5,554
201 et 18,627 20,401 AN, T74
01 At 22l 18,627 20,401 A1, 774
OJle+=EHl 7,602
OJles gl 11,025
202 o4dl 39,690 43,470 A 3,780
01 = LH o4 1 39,690 43,470 A 3,780
o220l 39,690
203 YR =&t 10,800 10,800 0
01 JIZ2Z YR 6,600 6,600 0
ondgza 6,600
04 FN2ELRZ=TH| 4,200 4,200 0
OJURSESEL RS 4,200
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